
 
i.5

4 

 
e.

54
 

 
e.

45
 

 
i.5

4 
 

e.
54

 

 
e.45 

 300 

 300 

LV One NERO
medium silencer DX Øi 54
Cod.3014008471

LV One NERO
medium silencer SX Øi 54
Cod.3014008472

2 Allen screw M8X25 
T.C.Z.B. 
Cod.200314

2 Allen screw M8X65 
T.C.Z.B. 
Cod.201222

4 Aluminium spacer
-for allen screw M8-
Cod.204321

4 Knurled collar 
nut M8
Cod.200298

2 Aluminium 
bracket 
Cod.3014144501

Pipe N°1088
Cod.3014144201

Pipe N°1089
Cod.3014144202

2 Short helical spring
tensile 
Cod.204387

2 Short tube in 
silicon rubber 
Cod.204412

Mounting 
plate M6
Cod.204664

 E13 92 R - 01 10410

 100 

dB-killer n.32B
Cod.307762801

Art. 14049

KAWASAKI Z1000/Z1000SX/NINJA 1000/ABS (US only)
(Fits with original panniers) 

Slip on - Nero - Approved 

WARNING: 
I_ Scollegare la valvola di scarico dai cavi di azionamento, in modo che tale valvola possa essere definitivamente asportata
 insieme allo scarico originale. L'attuatore della valvola di scarico non deve essere né rimosso, né scollegato. 
GB_ Disconnect the control cable from the exhaust valve on the actuator side; 
by removing the silencer, also the valve connected to the silencer is removed. The valve actuator an the cables should not be 
removed/disconnected. 
F_ Débrancher les câbles qui actionne la valve afin de pouvoir la supprimer en même temps que l’échappement d’origine. 
Le servomoteur qui actionne la valve à l'échappement et les câbles ne doivent pas être enlevé et/ou débranché. 
D_ Lösen Sie bitte das Kabel von der Auslasssteuerung um den originalen Auspuff inkl. Auslasssteuerung entfernen zu können. 
Der Stellmotor der Auslasssteuerung darf nicht entfernt werden. 
E_ Desconectar los cables de la valvuva; de esta manera se podrà quitar la valvula junta con el escape de origen. 
No desmontar ni desconectar el servomotor de accionamento de la válvula del escape de origen.

Warning:Fits with original panniers


	Foglio1
	Vista del disegno12
	Vista del disegno13


